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Multiple-choice Questions - Select One Answer Choice 1. The
passage implies which of the following about the current cost of
generating electricity? A. It is higher than it would be if better



technologies for capturing carbon dioxide were available[d B. It is
somewnhat less than the cost of electricity transmission and
distributiond C. It constitutes at most half of the delivered price of
electricity] D. It is dwelt on by policymakers to the exclusion of
other costs associated with electricity deliveryl] E. Itis not fully
recovered by the prices charged directly to electricity consumersL
AnswerCOUOOUOOUOOUOOUOOUOOUOUOUooOoOon
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[1 UJ the current cost of generating electricity U 0O O U 0O U O O O
[1 O "Currently, technology that would capture carbon dioxide
emitted by power plants and sequester it harmlessly underground or
undersea instead of releasing it into the atmosphere might double the
cost of generating electricity."0 0 U O U0 O OCHO OO OOOO
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Sample Multiple-choice Questions - Select One or More Answer
Choices 2. The passage suggests that extensive use of sequestration
would, over time, have which of the following consequences? A. The
burning of fossil fuels would eventually cease to produce
atmospheric accumulations of carbon dioxidell B. The proportion
of the delivered price of electricity due to generation would rise and
then declineld C. Power plants would consume progressively lower
quantities of fossil fuelst] Answer:BO U OO OO0 O0OOO
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OO0000000000 Sample Select-in-Passage Question 3.
Select the sentence that explains why an outcome of sequestration
that might have been expected would not occurl] Answer: "But
because sequestration does not affect the cost of electricity
transmission and distribution, delivered prices will rise less, by no
morethanS0percent." 0 0 00O 0O0O0OO0OOO0OOOO0O
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